Seasons Notes #2
2005
Vertical (straight up-and-down) sunlight carries ____ heat because it is concentrated and brighter.  Slanted sunlight carries _____ heat because it is spread out and less bright.  Since earth is a sphere, some places receive vertical sunlight (the ______ ) and other places receive slanted sunlight (the _________ ).
Q: Why does earth have seasons?

A:  The earth’s axis of rotation is tilted.  As the earth orbits the sun, the earth’s tilt causes the parts of the earth receiving the vertical sunlight (the most heat) to change in a regular pattern.  
For example, in June the North Pole is tilted towards the sun, so the north part of the earth receives the most vertical sunlight.  The season in the northern hemisphere is ___________ .
At the same time, the South Pole is tilted ______ from the sun, so the south part of the earth receives the most ____________ sunlight.  The season in the southern hemisphere is ____________ .

It is NOT the distance to the sun which causes the seasons.  The earth’s tilt and shape interacting with sunlight over the course of a year causes the seasons.  
